VA2567-MAT-S - Floor Mat Holder Square Support

SCALE 1:10

Parts List
ITEM QTY DESCRIPTION
1 1 Plate weld Assy Square
2 1 Floor Mat Holder
3 1 Floor Mat Holding Bracket
4 1 Square Pool Support
6 6 1/2-13 Hex Nut
7 2 1/2" - 13 x 1.25" UNC Hex Screw
8 6 1/2" Flat Washer
9 2 3/8"-16 x 1" UNC HEX SCREW
10 2 3/8"-16 18-8ss Heavy Hex Nut
11 2 3/8" FLAT WASHER
12 1 Square UBolt D 1/2"x4"x 7 1/2" LG
13 1 Square U Bolt D 1/2" x 4" x 6 1/4" LG
14 1 Lower Bracket_Square
DETAIL A
SCALE 1:5
32%"
48%s"
o
DETAIL B 1o
SCALE 1:15
AVW EQUIPMENT CO., INC. DRAWN BY Jibin cusToMER: AVW EQUIPMENT CO.
h}‘;ﬁgg‘;f‘,{%’;k’ 5E3 CHECKED BY PROJECT: VA2567-MAT-S_Floor Mat Rack_Square Support
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVIWEQUIPMENT.COM [e10% DESCRIPTION: Floor Mat Holder_Square Support
- COMPANY PROPRIETARY NOTE - RELEASE 9/17/2021 PART NUMBER: VA2567-MAT-S REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &

PATH:L:\Designs\Product Lines\Floor Mat Rack\VA2567-MAT\VA2567-MAT-S_Floor Mat Rack_Square Support.iam




REVISION HISTORY

ECO No.| REV DESCRIPTION DATE ENGINEER APPROVED
INITIAL RELEASE
1 09/17/2021
DRAWN BY Jibin cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: VA2567-MAT-S_Floor Mat Rack_Square Support
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
aty DESCRIPTION:
- COMPANY PROPRIETARY NOTE - R%fTAESE 9/17/2021 PART NUMBER: REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 2 of 8

PATH:




VA2567-MAT-S - EXPLODED VIEW

DRAWN BY Jibi :AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC. o CuSTOMER

105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: VA2567-MAT-S_Floor Mat Rack_Square Support

Tel: 708-343-7738 Fax: 708-343-9065

WWW.AVWEQUIPMENT.COM

[e10% DESCRIPTION: Floor Mat Holder_Square Support
- COMPANY PROPRIETARY NOTE - RELEASE 9/17/2021 PART NUMBER: VA2567-MAT-S REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. DIMENSION ARE IN INCHES & PROVIDED PRIOR SIZE ST WEIGHT- SHEET 3 of 8
TO SURFACE TREATMENTS, UNLESS NOTED. A : ol

PATH:L:\Designs\Product Lines\Floor Mat Rack\VA2567-MAT\VA2567-MAT-S_Floor Mat Rack_Square Support.iam




VA2567-MAT-SA - Plate weld Assy Square Parts List
ITEM QTY DESCRIPTION
S —— 1 1 Plate_Square
2 2 Plate Spacer_Square
4%"
’72"_-
| E—
VA2567-MAT-SAA - Plate _Square
|
¢1/2|| 31/2"_-
o ; _\ |— —1.5x45° TYP. o
43 -|7L% \</—R1" TYP.
"%“ "
4% -—3 3/16"
1:‘—‘ " 1%"
A

[—] L —R%"

RA" g il #/ e
4

SCALE 1:4

1%6" 1/f"
1"H ! 6"
Yo" 3" 4%
VA2567-MAT-SAB - Plate Spacer Square

4"

R%" TYP.

SCALE 0.15
20"

|._

bt 13— .

SCALE 1:2

DRAWN BY Jibin cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: VA2567-MAT-S_Floor Mat Rack_Square Support
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
arty DESCRIPTION: Plate weld Assy_Square
- COMPANY PROPRIETARY NOTE - RELEASE 9/17/2021 PART NUMBER: VA2567-MAT-SA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR .
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 4 of 8
PATH:L:\Designs\Product Lines\Floor Mat Rack\VA2567-MAT\Assemblies\Plate weld Assy_Square.iam




TRF3352A - Floor Mat Holder

Parts List

ITEM QTY

DESCRIPTION

Sheet Metal #3/16" x 3" x 30 1/4"

Sheet Metal #3/16" x 3" x 30 1/4"

Sheet Metal #14Ga x20" x 3"

Sheet Metal #14Ga x20" x 3"

QB |WIN

Al

Perforated Sheet

Metal #14Ga x 29" x 19"

TRF3352AC - Perforated Sheet Metal #14Ga x 29" x 19"

3/8“ |__91/2ll_—|
o)eXe] [e)e)e}
00000000000
00000000000
0000000000
0000000000

o
(o)
(o)
o
(o]

OO0OO0O00O0O000
0OO0OO0O0O0000O0O0
0000000000
0000000000
0OO0OO0O00O00O0O0O0
0OO0O0O00000O0
000000000
0OO0O000000O0
000000000
DO0OO000000O0

N
«Q

29||

AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE

MAYWOOD, IL 60153
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM

DRAWN BY Jibin

cusTOMER: AVW EQUIPMENT CO.

CHECKED BY

PROJECT: VA2567-MAT-S_Floor Mat Rack_Square Support

Qry

DESCRIPTION: Floor Mat Holder

- COMPANY PROPRIETARY NOTE -

THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
ITISNOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO.

RELEASE
v 9/17/2021

PART NUMBER: TRF3352A

REV# 1

DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED.

SIZE
A EST WEIGHT:

SHEET 5 of 8

PATH:L:\Designs\Product Lines\Floor Mat Rack\VA2567-MAT\Assemblies\Floor Mat Holder.iam




TRF3352AA - Sheet Metal #3/16" x 3" x 30 1/4"

16"

26%"

[

16" !

30%"

TRF3352AE - Sheet Metal #3/16" x 3" x 30 1/4"

|...|_1" @%6" THRU.
i 7
T )
I 267/8“ I
11%" | |
/ \ %"
f
o | |
" I 30%" {
1"
l j 1/2"
DRAWN BY Jibin cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: VA2567-MAT-S_Floor Mat Rack_Square Support
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: Sheet Metal #3/16" x 3" x 30 1/4"
- COMPANY PROPRIETARY NOTE - R%fTAESE 9/17/2021 PART NUMBER: TRF3352AA REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET 6 of 8

PATH:L:\Libraries\AVW Components\Floor Mat Components\Perforated Plate Components\MCWRTCFMRO001.ipt




TRF3352AD - Sheet Metal #14Ga x20" x 3"

TRF3352AB - Sheet Metal #14Ga x20" x 3

167/8“ I
7/ " 5/m
8%s /_ng/m.. /i ‘
‘ 3/ n
175" / & — %
1"%6" f
20%"
\ J
n
i 16%" i
111/16“ / \ %6"
| f
11/ "
1"%e 204" |
DRAWN BY Jibin cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: VA2567-MAT-S_Floor Mat Rack_Square Support
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QT DESCRIPTION: Sheet Metal #14Ga x20" x 3"
- COMPANY PROPRIETARY NOTE - R%fTAESE 9/17/2021 PART NUMBER: TRF3352AD REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT IS NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR
TO SURFACE TREATMENTS, UNLESS NOTED. A EST WEIGHT: SHEET7 of 8

PATH:L:\Libraries\AVW Components\Floor Mat Components\Perforated Plate Components\MCWRTCFMRO002B.ipt




VA2567-MAT-SC - Lower Bracket Square

550"

_‘__%..

| 35°"

18"
o 2%6"— 2%e" o 1ym
1%" /2 3/ " — ‘_3/ " 5/8"

R%ll TYP 1 -‘ 1 l ¢7/16“ TYP_\ 58“

| | | |
S = I R

%" le—3" | 11" ! 8" ! 1M" !

36"

TO SURFACE TREATMENTS, UNLESS NOTED.

A

DRAWN BY Jibin cusTOMER: AVW EQUIPMENT CO.
AVW EQUIPMENT CO., INC.
105 S. 9TH AVENUE
MAYWOOD, IL 60153 CHECKED BY PROJECT: VA2567-MAT-S_Floor Mat Rack_Square Support
Tel: 708-343-7738 Fax: 708-343-9065
WWW.AVWEQUIPMENT.COM
QTy DESCRIPTION: Lower Bracket_Square
- COMPANY PROPRIETARY NOTE - RELEASE 9/17/2021 PART NUMBER: VA2567-MAT-SC REV# 1
THIS DRAWING AND ITS DESIGNS ARE PROPERTY OF AVW EQUIPMENT CO. &
IT 1S NOT TO BE USED OR REPRODUCED WITHOUT THE PERMISSION FROM AVW CO. SIZE
DIMENSION ARE IN INCHES & PROVIDED PRIOR EST WEIGHT: SHEET 8 of 8

PATH:L:\Libraries\AVW Components\Floor Mat Components\VA2567-MAT Components\lower bracket for Square support1.ipt




